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GDS TO PM/MTS TAMILNADU CIRCLE-2022 
(1.) APY is available for any individual who has attained the age of 

(A.) 18 years and is below 45 years (B.) 18 years and is below 35 years 
(C.) 18 years and is below 40 years (D.) 18 years and is below 50 years 

(2.) If you want to book a registered Parcel weighing 3420 grams through Post Office, what is the total amount 
to be paid as Postage? 
(A.) Rs.94 (B.) Rs.99 (C.) Rs.116 (D.) Rs.132 

(3.) Franking Machine has 
(A.) Value die (B.) License die 
(C.) Both A and B (D.) None of these 

(4.) PMA is used for 
I) Delivery of Speed post and Registered articles 
II) Marking of location of LBs 
III) Delivery of Parcels and COD articles. 
IV) Delivery of e-MOS 
Choose the correct option. 
(A.) I only (B.) II and IV only 
(C.) I, III, and IV only (D.) I, II and IV only 

(5.) Articles transmitted by post which has thereon, or on the cover thereof, any pictorial representation of a 
person who is proclaimed offender, or who has been convicted of an offence punishable under chapter VI of 
the Indian Penal Code will be 
(A.) Returned to Sender (B.) Forwarded to the destination 
(C.) Sent to RLO (D.) Forwarded to the Regional PMG 

(6.) Deen Dayal SPARSH Yojana, the scholarship scheme of Philately, by Department of Posts is to award 
children in the category of 
(A.) Standard I to IV (B.) Standard VI to IX 
(C.) Standard VI to XII (D.) Standard XI to XII 

(7.) Consider the following statements: 
I) Article posted as Direct post will bear no address or name on the communication 
II) Minimum quantity of 1000 articles can be accepted as direct post 
Choose the correct option. 
(A.) Only statement I is incorrect. 
(B.) Only statement II is incorrect. 
(C.) Both the statements I and II are Correct. 
(D.) Both the statements I and II are incorrect. 

(8.) Consider the following statements about Head Post Office 
1.) Head Post office is the main office of accounts for itself. 
2.) It acts as the office of accounts for all the Sub and Branch post offices within the group. 
Choose the correct option. 
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(A.) Only statement (1) Is Incorrect. 
(B.) Only statement (2) Is Incorrect. 
(C.) Both the statements (1) and (2) are incorrect. 
(D.) Both the statements (1) and (2) are correct. 

(9.) Consider the following statements: 
(1.) Centre for Excellence in Postal Technology (CEPT) is located in NAZARBAD. 
(2.) There are 6 Postal Training Centres in India.  
(A.) Only statement (1) is Incorrect. 
(B.) Only statement (2) is incorrect. 
(C.) Both the statements (1) and (2) are correct. 
(D.) Both the statements (1) and (2) are incorrect. 

(10.) What is the name of Postal Training Centre situated at Ghaziabad? 
(A.) Rafi Ahmed Kidwal National Postal Academy  
(B.) Rafiq Ahmed Kidwal National Postal Academy  
(C.) Rafic Ahmed Kidwal National Postal Academy  
(D.) Refi Ahmed Kidwal National Postal Academy 

(11.) What is the PIN CODE of 2CBPO? 
(A.) 900199 (B.) 900099 (C.) 900156 (D.) 900056 

(12.) How to send a letter weighing 25 grams through a departmental envelope? 
(A.) Cannot be sent. Only up to 20 grams can be sent. 
(B.) Should be sent only through another private envelope. 
(C.) Can be sent with postage stamp affixed for an additional Rs.5. 
(D.) It should be registered. 

(13.) Consider the following statements. 
1.) All letters and parcels shall bear date stamp impressions of at least two Post offices. 
2.) The entire responsibility for sending a fragile article by post rests with the Department of post. 
Choose the correct option. 
(A.) Only statement (1) is incorrect. 
(B.) Only statement (2) is incorrect. 
(C.) Both the statements (1) and (2) are correct. 
(D.) Both the statements (1) and (2) are incorrect. 

(14.) Consider the following statements: 
1.) In post office, selling Revenue stamps Issued by Government of India cannot be used for payment of 
postage. 
2.) Postage can be made by affixing postal stamps or proper impression of franking machine. Choose the 
correct option. 
(A.) Only statement (1) Is Incorrect. 
(B.) Only statement (2) is incorrect. 
(C.) Both the statements (1) and (2) are correct. 
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(D.) Both the statements (1) and (2) are incorrect. 
(15.) Consider the following statements: 

1.) Parcels and franked articles should not be posted in the letter box. 
2.) Stamps other than postage (like revenue stamp) affixed on the postal article will not be defaced by post 
office. 
Choose the correct option. 
(A.) Only statement (1) is incorrect. 
(B.) Only statement (2) is incorrect. 
(C.) Both the statements (1) and (2) are correct. 
(D.) Both the statements (1) and (2) are incorrect. 

(16.) Consider the following statements: 
1.) The rates and conditions of "On Government service" Official Postal articles are as same as same classes 
of Normal Postal Articles. 
2.) Service stamps will be accepted as payment of Postage on "Service Unpaid Articles" 
Choose the correct option. 
(A.) Only statement (1) is incorrect. 
(B.) Only statement (2) is incorrect. 
(C.) Both the statements (1) and (2) are correct. 
(D.) Both the statements (1) and (2) are incorrect. 

(17.) In case of loss or damage of the EPP Parcel, compensation is paid upto a maximum of: 
(A.) Rs.100 (B.) Rs.500 (C.) Rs.200 (D.) Rs.1000 

(18.) Consider the following statements: 
I. Book Now Pay Later scheme is available for Speed Post services for corporate and contract customers. 
II. India Post provides Cash On Delivery services of speed post services for e-commerce and online sellers. 
Choose the correct option. 
(A.) Only statement I is incorrect.  
(B.) Only statement II is incorrect. 
(C.) Both the statements I and II are incorrect. 
(D.) Both the statements I and II are correct. 

(19.) Maximum amount that can be invested in Kisan Vikas Patra Is 
(A.) 9lakhs (B.) 15lakhs (C.) 50lakhs (D.) No limit 

(20.) Which of the following is "Suvidha" policy? 
(A.) Whole life assurance 
(B.) Endowment assurance 
(C.) Convertible Whole Life assurance 
(D.) Anticipated endowment assurance 

(21.) Public provident fund account can be extended for how many years after maturity? 
(A.) 1 year (B.) 5 years (C.) 10 years (D.) 15 years 
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(22.) Consider the following statements about "trip" performed by a set of a Section travelling from one end of its 
beat to other. 
1. The trip from headquarter of the set to its outstation is called "In-trip" 
2. The trip of the set towards its headquarters from its outstation is called "Out-trip" 
Choose the correct option. 
(A.) Only statement (1) is correct. 
(B.) Only statement (2) is correct. 
(C.) Both the statements (1) and (2) are correct. 
(D.) Both the statements (1) and (2) are incorrect. 

(23.) A collection of faced unregistered articles of the letter mail securely tied with a check slip at the top is 
called 
(A.) Labelled bundle (B.) Sorting bundle 
(C.) Registered bundle (D.) None of these. 

(24.) In which of the following offices Registered News Paper is accepted without any late fee 
(A.) RMS (B.) Press sorting office 
(C.) Night post office (D.) All the above 

(25.) Which of the following offices convert address in regional language into English Language? 
(A.) Office of exchange (B.) Foreign post office 
(C.) RLO (D.) Transcription centre 

(26.) RLO stands for 
(A.) Returned letter office (B.) Refused letter office 
(C.) Redirected letter office (D.) Regional letter office 

(27.) Which of the following are unusual bag? 
(A.) Special bag (B.) Camp bag 
(C.) Parcel bag (D.) All the above 

(28.) Which of the following are first class mails? 
(A.) Letters (B.) Letter cards 
(C.) Postcards (D.) All the above 

(29.) Match column 1 with column 2. Choose the right option given below. 
Column 1 Column 2 
1. Rules governing refusal of articles P. Clause 57 of P.O Guide 1 
2. Rules governing packing Q. Clause 50 of P.O Guide 1 
3. Rules governing window delivery R. Clause 14 of P.O Guide 1 
4. Rules governing fictitious stamps S. Clause 15 of P.O Guide 1 
  

(A.) 1-Q, 2-S, 3-P, 4-R (B.) 1-S, 2-P, 3-R, 4-Q 
(C.) 1-P, 2-R, 3-Q, 4-S (D.) 1-R, 2-Q, 3-S, 4-P 

(30.) Match column 1 with column 2, relating to the Postal Service Board. 
Choose the right option given below. 
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Column 1 Column 2 
1. Sri. Sanjay Sharan P. Member(Personne) 
2. Sri. Vinaya Prakash Singh Q. Memeber  (Banking and DBT) 
3. Ms. Manju Pandey R. Member (Planning & HRD) 
4. Ms. Alka Jha S. Member (Technology) 
  

(A.) 1-S, 2-P, 3-Q, 4-R (B.) 1-P, 2-Q, 3-R, 4-S 
(C.) 1-Q, 2-R, 3-S, 4-P (D.) 1-R, 2-S, 3-P, 4-Q 

(31.) Two Taps A and B can fill an empty tank in 30 hours and 15 hours respectively. Both were turned on 
simultaneously to fill the tank, but Tap A was turned off after sometime and tap B took 12 hours to fill the 
tank. Find out after how much time Tap A was turned of? 
(A.) 5 hours (B.) 6 hours 
(C.) 7 hours (D.) None of the above 

(32.) The length of the shadow of a 168 cm tall person at a particular time of a day is 252 cm. what will be the 
length of the shadow of a 158 cm tall person at the same time of the day? 
(A.) 217 cm (B.) 227 cm (C.) 237 cm (D.) 247 cm 

(33.) The population of a village is 15000. When the male population increases by 12% and the female 
population decreased by 8% the total population remains the same. Find the female population of the 
village. 
(A.) 6000 (B.) 7000 (C.) 8000 (D.) 9000 

(34.) If selling price is double, then the profit triples. Find the profit percentage. 
(A.) 66.66% (B.) 100% (C.) 105.33% (D.) 120% 

(35.) Mr. Kumar invested an amount of Rs.13900 divided in two different schemes A and B at the simple interest 
rate of 14% per annum and 11% per annum respectively. If the total amount of simple interest earned in two 
years be Rs.3508, what was the amount invested in scheme B? 
(A.) Rs.6400 (B.) Rs.7400 (C.) Rs.7500 (D.) Rs.5400 

(36.) The average of seven consecutive numbers is 20. What is the largest of these numbers? 
(A.) 21 (B.) 22 (C.) 23 (D.) 24 

(37.) Ravi and Raja are working in a Company. Ravi takes 6 hours to type 32 pages on a computer, while Raja 
takes 5 hours to type 40 pages. How much time will they take, working together on two different computers 
to type a project of 110 pages? 
(A.) 7 hours 30 minutes (B.) 8 hours 
(C.) 8 hours 15 minutes (D.) 8 hours 30 minutes 

(38.) Train can travel 50% faster than a car. Both start from point A at the same time and reach point B, 75kms 
away from A at the same time. On the way, however, the train lost about 12.5 minutes while stopping at the 
stations. Then, what is the speed of the car? 
(A.) 100kmph  (B.) 110kmph (C.) 120kmph (D.) 130kmph 

(39.) Which of the following commission was appointed by the central government on union-state relations in 
1983? 
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(A.) Sarkariya Commission (B.) Dutt Commission  
(C.) Setalvad Commission  (D.) Rajamannar Commission 

(40.) Dandiya is a popular dance of 
(A.) Punjab (B.) Gujarat 
(C.) Andhra Pradesh (D.) Maharashtra 

(41.) When was the Rowlatt Act which led to Jalliyanwala Bagh Massacre passed? 
(A.) 1919 (B.) 1920 (C.) 1921 (D.) 1922 

(42.) Ethics deals with the correctness of 
(A.) Thought (B.) Conduct (C.) Perception (D.) Intuition 

(43.) " 'Human desire' is the fundamental motivation of all human action." 
(A.) Hobbes (B.) Mathew Arnold 
(C.) Mcdougall (D.) Mackenzie 

(44.) Match column I column 2. Choose the right option given below. 
Column 1 Column 2 
1. 23rd January P. World Post Day 
2. 21st May Q. Nethaji Subhash Chandra Bose birthday 
3. 5th June R. Anti Terrorism Day 
4. 9th October S. World environment day 
  

(A.) 1-S, 2-P, 3-Q, 4-R (B.) 1-R, 2-S, 3-P, 4-Q 
(C.) 1-P, 2-Q, 3-R, 4-S (D.) 1-Q, 2-R, 3-S, 4-P 

(45.) Match column I column 2. Choose the right option given below. 
Column 1 Column 2 
1. Mohindar Amarnath P. Bajji 
2. Rohit Sharma Q. Jimmy 
3. Harbhajan Singh R. Hit-man 
4. Kapil Dev S. Haryana Hurricane 
  

(A.) 1-P, 2-Q, 3-R, 4-S (B.) 1-Q, 2-R, 3-P, 4-S 
(C.) 1-R, 2-S, 3-P, 4-Q (D.) 1-S, 2-P, 3-Q, 4-R 

(46.) Match column I column 2. Choose the right option given below. 
Column 1 Column 2 
1. Cricket P. Davis Cup 
2. Football Q. Deodhar Trophy 
3. Hockey R. Santhosh Trophy 
4. Lawn tennis S. Nehru Trophy 
  

(A.) 1-S, 2-P, 3-Q, 4-R (B.) 1-P, 2-Q, 3-R, 4-S 
(C.) 1-Q, 2-R, 3-S, 4-P (D.) 1-R, 2-S, 3-P, 4-Q 
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(47.) Match column I column 2. Choose the right option given below. 
Column 1 Column 2 
1. Minto Morley reforms P.1931 
2. Champaran campaign by  Mahatma Gandhi Q.1942 
3. Gandhi Irwin Pact R. 1909 
4. Quit India Movement S. 1917 
  

(A.) 1-Q, 2-R, 3-S, 4-P (B.) 1-P, 2-Q, 3-R, 4-S 
(C.) 1-R, 2-S, 3-P, 4-Q (D.) 1-S, 2-P, 3-Q, 4-R 

(48.) Identify the option in which the Rivers are given in North-South sequence. 
(A.) Godavari-Mahanadi-Kaveri-Krishna 
(B.) Mahanadi-Godavari-Krishna-Kaveri 
(C.) Krishna-Kaveri-Godavari-Mahanadi 
(D.) Kaveri-Godavari-Mahanadi-Krishna 

(49.) Find the value of: (1234 x 1234) + (234 x 234) - (123 x 123)= 
(A.) 1526383 (B.) 1526833 (C.) 1568233 (D.) 1562383 

(50.) A man completes a journey in 10 hours. He travels first half of the journey at the rate of 21 km/hr and 
second half at the rate of 24 km/hr. Find the total distance of the journey in KM. 
(A.) 220 km (B.) 224 km (C.) 230 km (D.) 234 km 

  

GDS TO PM/MTS TAMILNADU CIRCLE-2022 KEY 
ANSWER 

(1.) C (2.) D (3.) C (4.) C (5.) C 
(6.) B (7.) C (8.) D (9.) C (10.) A 
(11.) B (12.) C (13.) B (14.) C (15.) C 
(16.) B (17.)  (18.) D (19.) D (20.) C 
(21.) B (22.) D (23.) A (24.) D (25.) D 
(26.) A (27.) D (28.) D (29.)  (30.) A 
(31.) B (32.) C (33.) D (34.) B (35.) A 
(36.) C (37.) C (38.) C (39.) A (40.) B 
(41.) A (42.) B (43.) A (44.) D (45.) B 
(46.) C (47.) C (48.) B (49.) D (50.) B 

 

 
 
 


